GUEGE S0

5 T 5T B A Bh 4

oA

HERAT B

.
()R B 4 L) pE 35 18 BLER A 5 )

B DL T B FES oM B FEE S DL wWhe%somE (1) o =
BT R | KE~ORENLE R BEE T AMLES5 A1 3 BHARFPE
BAX IR EE ZNZH T MR R v b DR HRE R ER T 513, 000

B L, PROSEN CTHiB

T 5, SF2E2H14RE
BT R | KE~ORENRMLE R BEET T SMICE 8 H 9 HAFE
U =05 S ZNZH T D MR R R v b DR 5 BT 95, 000

B L, PROSEN CTHiB

T 5, SR2E2A014B808F
BT 2 | KE~OSENLE R EER Y ASFTLHES A1 7 BARAFPE
A F=8F & %4 BT DR R R v b DR B R 2, 577, 000

%%Kﬂb\%%@ﬁﬂmf@%

35, SR2E2A014BB08F




